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(m3N /h) 
133  
266  

815kW 175  

94  
24  

(m3N /h) (m3

 9,125 1,212,713
 9,247 2,457,764

 175   5,840 1,022,000

 40,515 3,808,410
 13,505 317,368

   8,760 11,503,355
 8,760 326,176
 - 20,647,786
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σ  
 

α γ

α γ α γ 
A 0.748 1.569 0.948 1.569 
A-B 0.659 0.862 0.859 0.862 
B 0.581 0.474 0.781 0.474 
B-C 0.502 0.314 0.702 0.314 
C 0.435 0.208 0.635 0.208 
C-D 0.342 0.153 0.542 0.153 
D 0.270 0.113 0.470 0.113 
E 0.239 0.067 0.439 0.067 
F 0.239 0.048 0.439 0.048 
G 0.239 0.029 0.439 0.029 
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